S

(S

I | | I J Answer Sheet No.

Sig. of Invigilator.

.....................................................................................................................................................

PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itseif.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C | D. Each part carries one mark.

0]

(i)
(iii)
(iv)
v)
(vi)

{wii)

{(viii)
(ix)
(x)

{xi)

(xii)

Professor Dr. Abdus Salam was awarded the Nobel prize in

A. 1976 AD B. 1977 AD C. 1978 AD D. 1979 AD
One tera metre = metre.

A. 10" B. 10° C. 10° D. P

A ball is dropped from the top of the tower. The distance covered by it in the first second is
A 100 m B. 10m C. 50 m D. 5m
The weight of a body of 20 kg mass is Newton on earth.

A 2 B. 10 C. 20 D. 200
Pressure is a quantity.

A Vector B. Scalar C. Base D. None of these
According to the Second condition of Equilibrium =0.

A. 2F, B. ZF, o It D. F

A satellite is revolving around the earth in a circular orbit. If the radius of the orbit is increased form

R to 2R, its velocity will be

P B 2v c. L DV

J2 2
What is unit of Power in System International?
A Newton B. Watt C. Joule D. Metre
Least count of screw gauge is ;
A 1 mm B. 0.1 mm C. 0.01 mm D. 0.001 mm
Unit of Viscosity is ;
A kgms™? B. kgm's™ o) kgm?®s D. kgm*s?
Co-efficient of volume expansion as compare to co-efficient of linear expansion is times
greater.
A 1 B. 2 C. 3 D. 4
Centripetal acceleration a. =
- g & c. ma 5 D

r r r
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Time allowed: 2:40 Hours

PHYSICS SSC-I

Total Marks Sections B and C:

/&

53

NOTE:- Answer any eleven parts from Section
provided answer book. Use supplementary answer sheet i.e. Shee

neatly and legibly.

‘B’ and any two questions from Section ‘C’ on the separately
t-B if required. Write your answers

Note:

Q.3

Q.4

Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines.

(i

(i)
(i)
(iv)
v
(vi)

(wvil)
(vii)
(ix)
(x)
(xi)
(xii)
(iii)
(xiv)

(xv)

Attempt any TWO questions. All questions carry equal marks.

ECTION - 33

Write briefly the achievements of Alberuni.

What is Random Error? Write its causes and method to minimize it.

A truck covers a distance of 360 km in 5 hours. Find its speed in metre per second.
Wirite three advantages of friction.

Define Astrophysics and Geo-Physics.

A lead shot of mass 5 g is fired with an air gun. If the velocity of the shot is60ms™', what is its
momentum?

An inflated balloon shoats off when its air is released. Why?

Write three differences between Mass and Weight.

Under what condition the sum of three vectors will be zero?

What is Torque?

The height of a racing car is kept small. Why?

Why the outer edge of a road is kept higher than the inner edge at a turn?

Define Work, Power and Energy.

A ship floats on the sea surface buta steel needle sinks. Why?

Define Conduction and Convection.

SECTION — C (Marks 20)

Derive the third equation of motion.
State Newton's 3" law of motion and give two examples.
A brick is dropped from the height of 80m. How long will it take to reach the

surface of the earth?

Define Kinetic energy and derive its equation.

Define Inclined Plane and calculate its mechanical advantage.
Define both the conditions of equilibrium.

Define Elasticity, Pressure, Pascal's law and Viscosity.
Define Boyle's law. Write its equation and explain its graph.
What will be the increase in length in 1 m long wire of copper when a stress of

2.5x107Nm™ is applied along its length? (For copper,Y =1.1x 10"Nm™?)
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PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i The matter of the Sun is in state.

A. Solid B. Liquid C. Gas D. Plasma
(i) The number of significant figures in 0.0036 is
A. 1 B. 2 C. 3 D. 4
(iit) Rate of change of velocity is known as
A Displacement B. Acceleration  C. Relative motion D. Distance
(iv) The magnitude of force F can be found by the formula ;
A. Fcosd B. Fsing C. JE2+F? D tan“%
(V) Under the action of a torque, if the rotation produced is anticlockwise, the torque is consid;red
to be 5
A Negative B. Positive C. Zero D. One

(vi) How many times centripetal force will increase if the mass of a body moving with uniform

speed in a circle is doubled?

A. Two times B. Four times C. Six times D. Eight times
(vii) What is the unit of Work in System International?
A. Watt B. Joule C. Newton D. Metre
(vii)  Mechanical advantage of an inclined plane can be found by the formuia
1, @ R 5 )
sind h r cosd
(ix) The rolling friction is about times smaller than the sliding friction.
A. 2 B. 5 c. 10 D. 100
() Cause of land and sea breeze is
A Greater specific heat of water B. Less specific heat of water
C. Low freezing point of water D. High boiling point of water
(xi) What will be the power of a machine doing 10 J work in 5 seconds?
A 50 watt B. 25 watt C. 10 watt D. 2 watt

(xii) A 2 kg object is moving in a circle with a speed of 4ms ~'_If the radius of the circle is 1 m,

what will be the value of the centripetal force acting on the object?
A. 8N B. 16 N C. 32N D. 64 N

For Examiner’s use only:
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PHYSICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

SECTION — B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)

(i) Write three achievements of |bn ul Haithem.

(i) Define Physics. Name any four of its branches.

(iii) Define Uniform Speed, Relative velocity and Acceleration.
(iv) Write three methods to reduce friction.

(v) Find the momentum of a truck of mass 2000 kg which is moving with a velocity of 36 kmh™.

(vi) If vectors A and B are added, under what condition their resultant magnitude is A+B and under
what condition their resultant is zero?

(vii) Name three states of equilibrium and give one example of each.

(vii)  Is there any difference between the values of g at the equator and at the poles? Explain.
(ix) A body moves along a straight line from rest with an acceleration of 2ms=,

Calculate the time taken by it to cover a distance of 100 m.
(x) Define Mechanical Advantage Qutput and Efficiency.
(xi) What is a Screw Jack? Write its parts. Also write formula to find its mechanical advantage.

(xiiy  Write three applications of Pascal's law.
(xii)  Find the water pressure on a deep sea diver at a depth of 10 m, where the density of sea water
is1030 kgm™.

(xiv)  Briefly write the effects of anomalous expansion of water.
(xv) Define Force, Newton and Momentum.

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Q.3 a Define Translatory motion, Rotatory motion and Vibratory motion. 03
b State Newton's Second law of motion and derive its equation. 03
c. The mass of a car is 500 kg. In order to raise its velocity from rest to 40ms” in
20 seconds, how much force will be required? 04
Q.4 a. State Newton's |aw of gravitation and calculate mass of earth with the help of it. 04
b. Define Potential energy and Kinetic energy. 03
c. A player throws a cricket ball with a velocity of 40ms”’ at an angle of 60° with the
ground. Find the horizontal and vertical components of the velocity of the ball. 03
Q5 a State and prove law of conservation of energy by taking two paints. 05
b. How much effort is required for lifting a load of 1000 N with the help of wheel and axle
when the radius of the wheel is 50 cm and that of axle is 10 cm? 03
c. Define Thermometry and Heat. 02
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